A NGAZUHSEH2
M YASENXE 8358 FE(ELXINY LAl
ol NSzged Jga=s EER=E)
SN - B SRA(BH) - HPAY - BLS 0l &y ol 8 o tmE==T
PNE-ES=lE=pskL ) 60,733,289 57,596,406 3,136,883
= 1,700,000 2,000,000 300,000
z 29,210,800 27,710,800 1,500,000
CH 20,737,201 20,737,201 0
[ 9,085,288 7,148,405 1,936,883
JEUSEME 4352 FE(SEXLNAMNL/TALEAI) 37,829,529 36,296,529 1,533,000
= 1,700,000 2,000,000 300,000
z 29,046,800 27,546,800 1,500,000
< 7,082,729 6,749,729 333,000
ANeaged™ Jgta= 13,757,129 11,924,129 1,833,000
z 11,177,800 9,677,800 1,500,000
< 2,579,329 2,246,329 333,000
THAFST L2X3 (2O EXR) 103,000 70,000 33,000
308 XtXIEMSO0IH 103,000 70,000 33,000
13 S [2S0tHe 4 A AS A 103,000 70,000 33,000
OTNAMRSS M= & JI1= X2 103,000 70,000 33,000
Qrargs AGardget Atgd(=1) 1,800,000 0 1,800,000
= 1,500,000 0 1,500,000
[ 300,000 0 300,000
403 AXIEHMSAH=0ld 1,800,000 0 1,800,000
= 1,500,000 0 1,500,000
[ 300,000 0 300,000
01 AXEMA2EE 1,800,000 0 1,800,000
OAHEZcHA 0l=0ts ZdA 1,800,000 0 1,800,000
z 1,500,000 0 1,500,000
< 300,000 0 300,000
KSE2I|BAE =5 4,448,000 4,748,000 300,000
= 1,700,000 2,000,000 300,000
< 2,748,000 2,748,000 0
FEIZBHRGFHAG S SENL(=22) 1,700,000 2,000,000 £A300,000
= 1,700,000 2,000,000 300,000
403 X MSKH=01H 1,700,000 2,000,000 300,000
= 1,700,000 2,000,000 A300,000
01 AXEMA2E = 1,700,000 2,000,000 300,000
OFet0IZ380AYFHAS S K& 1,700,000 2,000,000 300,000
= 1,700,000 2,000,000 300,000
JESENXE 425 S (Les3F/LerHd 22,739,260 21,138,501 1,600,759
z 100,000 100,000 0
CH 20,737,201 20,737,201 0
[ 1,902,059 301,300 1,600,759
ey 2dst A 22,566,560 20,965,801 1,600,759
z 100,000 100,000 0
CH 20,737,201 20,737,201 0
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2 NHLSHSH M2
Fu: YASUNIT LTSS FE(LUITUT/YLAT)
Rl IR 2ydt =X (St &)
M- SA(3) - MRAY - BES Ofl &kl | & A Hlns
(= 1,729,359 128,600 1,600,759
NLASUSII2(ZFSHE) 20,937,201 20,737,201 200,000
CH 20,737,201 20,737,201 0
[ 200,000 0 200,000
308 XIXISHHISOIE 400,000 200,000 200,000
CH 200,000 200,000 0
[= 200,000 0 200,000
13 SO 2SOIHEHE A XA I 400,000 200,000 200,000
OXNYAEUS SAUXYXE 2K 400,000 200,000 200,000
CH 200,000 200,000 0
(= 200,000 0 200,000
403 IXISHSK=01™ 20,537,201 20,537,201 0
CH 20,537,201 20,537,201 0
01 XIXISHHIX =B X 20,537,201 20,537,201 0
OSAHE =AY 2,764,400 2,800,000 35,600
OCHAl BHlE 4= 2tS)| 64,400 100,000 35,600
CH 64,400 100,000 35,600
OEE XA 4,312,801 4,277,201 35,600
Oat A2 oIHl 2SS 0I22HED] 889,801 854,201 35,600
CH 839,801 854,201 35,600
NEAEUSIIZ2(FSHE) (2022) 1,300,000 0 1,300,000
403 XXISHSK=01™ 1,300,000 0 1,300,000
01 XIXISHHIX =B X 1,300,000 0 1,300,000
O% JI= A 1,300,000 0 1,300,000
OFED|E DRIDIXIEZ AnAlS 0
NsAUZAl 4 1,300,000 0 1,300,000
NLAHUSIS(ZHAHE)(2023) 100,759 0 100,759
403 XXISHHSKH=0|™ 100,759 0 100,759
01 RXISHHIAt=2 2 X 100,759 0 100,759
O% I A 100,759 0 100,759
Oz #3&ds SdArE ZelX 100,759 0 100,759
NWRES(RELED) (LSS HE/ULEN) 3,124 0 3,124
PSS 3,124 0 3,124
DEUYNER 2NPXZ oat 3,124 0 3,124
802 gter=0|E 3,124 0 3,124
01 2NLEX3EHEZ 3,124 0 3,124
©'234" XSESHAMH 2SR 1,571 0 1,571
©'23H TAl FHAX A M IHEZAI 1,553 0 1,553
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